BLM Answers

BLM 2.GR.1: Get Ready

Solving Proportions

1. a) 10
d) 72
2.a) 9
d) 20

Rounding

3. a) 42°
d) 32°

4. 2) 7.2
d) 99.9

5. a) 88.89
d) 29.15

b) 2
e) 6
b) 21
e) 42

b) 67°
e) 99°
b) 8.1
e) 0.7
b) 70.16
e) 45.06

Squares and Square Roots

6. a) 225
d) 10000
7. a) 2.83
d) 10.95
8. a) 61
d) 72

b) 400
e) 324
b) 3.87
e) 16.28
b) 164
e) 45

SLeese
SN

¢) 73°
) 60°
¢) 10.1
f) 0.1
¢) 0.07
f) 0.07

¢) 1225
f) 625
¢) 9.95
f) 13.42
¢) 265
f) 185

BLM 2.1.1: The Pythagorean Theorem

a) 14.1m
a) 87.2cm
a) 9.0m
24 cm

a) 700 m

Nh W=

b) 18.2cm
b) 29.2 cm

b) 8.0m

b) 500 m

¢) 200 m

BLM 2.3.1: The Sine and Cosine Ratios

1. a) 0.9063
d) 0.3420
2. a) 0.8192
d) 0.7660
a) 55°
a) 25°
11.5m
6 cm
25.4 mm
4.60 m
36.87°

XA NRW

b) 0.7431
e) 0.5592
b) 0.5299
e) 0.2756
b) 85°
b) 32°

¢) 0.8290
f) 0.9848
¢) 0.8988
f) 0.5000
c) 77°
c) 64°

BLM 2.4.1: The Tangent Ratio

1. a) 0.2679
d) 0.8391
a) 48°

a) 36.9°
132 m
75.2m
6.2 cm
21.4 mm
21.75 cm
143.01 m

LRI NER LD

b) 0.5317
e) 2.0503
b) 35°
b) 26.6°

¢) 0.7265
f) 1.1918
¢) 56°

¢) 78.7°

d) 66°
d) 70°

d) 75°
d) 71.6°

BLM 2.5.1: Solve Problems Using Right

BLM 2.2.1: Explore Ratio and Proportion
in Right Triangles
1. a) hyp: AC, opp: BC, adj: AB
b) hyp: XZ, opp: XY, adj: YZ

¢) hyp: PR, opp: PQ, adj: QR
d) hyp: TV, opp: UV, adj: TU

2. 0.38
3. 0.76
4. 1.00
5.
a) (o]
6 cm 8.49
M 6 cm N
b) MO_ 6 _y7
NO 8.49

Triangles
1. 14cm 2. 673 m
3. 16.8m 4. 546 m
5. 1.44m 6. 52m
7. The building on the right is 46.99 m tall, while the

building on the left is 38.1 m tall. Therefore, the
right one is taller.

Store A is 25.60 m away. Store B is 29.79 m away.
Therefore, store A is closer.

BLM 2.CR.1: Chapter 2 Review

2.1
1.

w

SN+ W

24
7

8.13.4cm

The Pythagorean Theorem

5m

Explore Ratio and Proportion in Right Triangles

a) 0.37 b) 0.93
a) 2828 cm b) 0.71

The Sine and Cosine Ratios

a) 0.9962 b) 0.6157 ¢) 09135 d) 0.4384
a) 20° b) 58° c) 58° d) 68°
6.1 m

The Tangent Ratio

a) 04877 b) 1.6003 c) 2.2460 d) 5.6713
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2.5 Solve Problems Using Right Triangles BLM 2.CT.1: Chapter 2 Test
9. 722 m Multiple Choice
10. 10.39m
1. B 2. B 3. A
. : 4. B 5 C 6. D
BLM 2.PT.1: Chapter 2 Practice Test T A Y ° D
Multiple Choice 10. B
1. A 2. C 3. A
4 C 5 A 6. A Short Response
7. C 8. B 9. A 11. a) 21.21cm b) 0.7
10. A 12. a) 0.27 b) 0.96
13. 372
Short Response 14. 19.7m
11. a) 0.24 b) 0.97
12. 29m Extended Response
13. 8.6 cm 15 a) 3500m b) 2500m  ¢) 1000 m
14. a) 21.26 cm b) 0.75 16. 19.07 m
17. The building on the right is 23.49 m tall. The
Extended Response building on the left is 24.25 m tall. Therefore, the

15. a) 350m  b) 250m ¢) 100 m building on the left is taller.

16. The building on the right is 47 m tall. The building
on the left is 58 m tall. Therefore, the left one is
taller.



